
 Banská Bystrica – Bratislava – Břeclav – Brno – Česká Třebová – Praha
km Vlak 15301 15303 15305 15307 15309

                        
       

Zo/ze stanice Polička Polička Žilina Polička Polička Žilina Polička Žilina
0 Banská Bystrica 23 30 4 30

21 G  23 49 4 49
 23 51 4 51

32 Hronská Dúbrava  5 01
42 Žiar nad Hronom P 0 13 L Ž D P S 5 13
99 Levice O 0 57 E I E R V 5 57

126 Podhájska D  D L V E R 
141 Šurany L  N I Í S A 6 34
181 Galanta U 2 01 I N N B T 7 01
230 G Ž 2 31 C A U K 7 31

A 2 35 E  5 35 R 6 35 A 7 35
312 Břeclav G N 3 25  5 25 G 7 25 8 25

Břeclav 3 27  4 27 5 27 7 27 8 27
371 G 4 00  5 00 6 00 8 00 9 00

4 02 5 02 6 02 8 02
393 Blansko 4 23 5 23 6 23 8 23
445 Svitavy 4 47 4 53 5 47 5 53 6 47 6 53 7 47 8 53 9 47

Svitavy 4 49 4 54 5 49 5 54 6 49 6 54 7 49 8 54 9 49
Svitavy-Lačnov  4 52   5 52   6 52   7 52   9 52
Opatov 4 55  5 55  6 55  7 55  9 55
Semanín  4 58   5 58   6 58   7 58   9 58

462 Česká Třebová G 5 03 5 04 6 03 6 04 5 53 7 03 7 04 8 03 7 53 9 04 10 03 9 53
Česká Třebová 5 07 6 07 7 07 8 07 9 07 10 07

472 Ústí nad Orlicí  6 17 7 17 8 17 9 17 10 17
522 G 5 42 6 42 7 42 8 42  9 42 10 42

5 44 6 44 7 44 8 44 9 44 10 44
564 Kolín 6 07 7 07 8 07 9 07 10 07 11 07
626 G 6 56 7 56 8 56 9 56 10 56 11 56

 Banská Bystrica – Bratislava – Břeclav – Brno – Česká Třebová – Praha
km Vlak 15311 15313 15315 15317 15319

                    
      

Zo/ze stanice Polička Žilina Polička Žilina Polička Polička Žilina Polička
0 Banská Bystrica 5 30 7 30 9 30 11 30

21 G 5 49 7 49 9 49 11 49
5 51 7 51 9 51 11 51

32 Hronská Dúbrava 6 01 8 01 10 01 12 01
42 Žiar nad Hronom D 6 13 T 8 13 S 10 13 J 12 13
99 Levice U 6 57 E 8 57 I 10 57 Á 12 57

126 Podhájska N  K  T  N 
141 Šurany A 7 34 O 9 34 N 11 34 O 13 34
181 Galanta J 8 01 V 10 01 O 12 01 Š 14 01
230 G 8 31 10 31 12 31 Í 14 31

8 35 10 35 12 35 K 14 35
312 Břeclav G 9 25 11 25 13 25 15 25

Břeclav 9 27 11 27 13 27 15 27
371 G 10 00 12 00 14 00 16 00

10 02 12 02 14 02 16 02
393 Blansko 10 23 12 23 14 23 16 23
445 Svitavy 10 53 11 47 12 53 13 47 14 47 14 53 15 47 16 47 16 53

Svitavy 10 54 11 49 12 54 13 49 14 49 14 54 15 49 16 49 16 54
Svitavy-Lačnov   11 52   13 52  14 52   15 52  16 52 
Opatov  11 55  13 55 14 55  15 55 16 55 
Semanín   11 58   13 58  14 58   15 58  16 58 

462 Česká Třebová G 11 04 12 03  11 53 13 04 14 03 13 53 15 03 15 04 16 03 15 53 17 03 17 04
Česká Třebová 11 07 12 07  13 07 14 07 15 07 16 07 17 07

472 Ústí nad Orlicí 11 17 12 17 13 17 14 17 15 17 16 17 17 17
522 G 11 42 12 42 13 42 14 42 15 42 16 42 17 42

11 44 12 44 13 44 14 44 15 44 16 44 17 44
564 Kolín 12 07 13 07 14 07 15 07 16 07 17 07 18 07
626 G 12 56 13 56 14 56 15 56 16 56 17 56 18 56

EN 325  1501  1401  1503  1403  1505  301  1405
         

Zvolen os.st.
Zvolen os.st.

Bratislava hl.st.
Bratislava hl.st.

Brno hl.n.
Brno hl.n.

Pardubice hl.n.
Pardubice hl.n.

Praha hl.n.
  jede v    jede v   a 
 jede v  

 303  1407  305  1409  307  1411  309
         

Zvolen os.st.
Zvolen os.st.

Bratislava hl.st.
Bratislava hl.st.

Brno hl.n.
Brno hl.n.

Pardubice hl.n.
Pardubice hl.n.

Praha hl.n.



 Banská Bystrica – Bratislava – Břeclav – Brno – Česká Třebová – Praha
km Vlak 15321 15323 15325 15327

                       
       

Zo/ze stanice Polička Žilina Polička Polička Žilina Polička Žilina
0 Banská Bystrica 13 30 15 30 17 30 19 30  20 30

21 G 13 49 15 49 17 49 19 49  20 49
13 51 15 51 17 51 19 51  20 51

32 Hronská Dúbrava 14 01 16 01 18 01 20 01  21 01
42 Žiar nad Hronom C 14 13 Z 16 13 B 18 13 B 20 13  B 21 13
99 Levice Z 14 57 Á 16 57 Y 18 57 R 20 57  R 21 57

126 Podhájska E  H S N   A 
141 Šurany C 15 34 O 17 34 T 19 34 O 21 34  T 22 34
181 Galanta H 16 01 R 18 01 R 20 01 22 01  I 23 03
230 G I 16 31 I 18 31 I 20 31 22 31 S 23 31

A 16 35 E 18 35 Č 20 35 22 34 L
312 Břeclav G 17 25 18 25 A 21 25 23 24 A

Břeclav 17 27 18 27 N 21 27 23 26 V
371 G 18 00 19 00 22 00 23 59 Č

18 02 19 02 22 02 A
393 Blansko 18 23 20 23 22 23 N
445 Svitavy 17 47 18 47 18 53 19 47 20 53 21 47 22 53

Svitavy 17 49 18 49 18 54 19 49 20 54 21 49 22 54
Svitavy-Lačnov  17 52  18 52   19 52   21 52 
Opatov 17 55 18 55  19 55  21 55 
Semanín  17 53  18 58   19 58   21 58 

462 Česká Třebová G 18 03 17 53 19 03 19 04 20 03 19 53 21 04 22 03 21 53 23 04
Česká Třebová 18 07 19 07 20 07 21 07 22 07 23 07

472 Ústí nad Orlicí 18 17 19 17 20 17 21 17 22 17 23 17
522 G 18 42 19 42 20 42 21 42 22 42 23 42

18 44 19 44 20 44 21 44 22 44 23 44
564 Kolín 19 07 20 07 21 07 22 07 23 07 0 07
626 G 19 56 20 56 21 56 22 56 23 56 0 56

 1413  311  1415  313  1417  315  317  1507
       

Zvolen os.st.
Zvolen os.st.

Bratislava hl.st.
Bratislava hl.st.

Brno hl.n.
Brno hl.n.

Pardubice hl.n.
Pardubice hl.n.

Praha hl.n.



 Banská Bystrica – Bratislava – Břeclav – Brno – Česká Třebová – Praha

 Banská Bystrica – Bratislava – Břeclav – Brno – Česká Třebová – Praha



 Banská Bystrica – Bratislava – Břeclav – Brno – Česká Třebová – Praha
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